2016 IN.C BIRREEGE SERIE

2016 International Mathematics Contest (Taiwan)
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( A )1. Calculate the exact value of (379+379)x5007?
(A) 379000 (B) 397000 (C) 558000 (D) 548000
BEHT + 379X 2X500=379 % 1000=379000

( B )2. Tim’sfirst 3 test scores are 87 ~83 and 88, respectively. If he calculates
(518) the average score(FEIFDEN) of all 4 tests after the 4™ test and
finds out that the 4™ test is 1 point higher than the average of first three
tests, what is Tim’s 4" test score?

(A) 89 (B) 90 (C)91 (D) 92
BRAT : BI= R D43 (87 +83+88)+3=86"7D
S ORABD AR (86 +1) x4 =348 — ZHBIUZNAHIEA 348 —-86x3 =907

( C )3. Thereare 5 numbers, which are 8,13,14,17 and 38. We want to divide
them into 2 groups and to make the sum of one group twice(2 18) the

sum of another group. What number is in the same group as 13?

(A) 8 (B) 14 (C) 17 (D) 38
RAT + BR—1BA0A x » x+2x=8+13+14+17+38 *» 3x=90 * x=30 * 13+17=30
R 17 [@—48
( C )4 BRB/IBIE—RE = B | & | me | an | 1e

EEZRNHGEERIS D | BRI EIE | -3 | -10 | +15| © | 46

HEE - EPERERER S - EENLES S 833 * IR

MAQEEE <
(A) IR 78 1 (B) REBFAENZ2MEZE 50
(C) BAZ 69 (D) BIXZE 73
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(A) 83-6=77 (B) 15—(-10) =25
(C) 77-[(-3)+(-10)+15+6]=69 (D) 77+(-3) =74

) 5.

Bl ASTHRESICBN&R- & b ¢ B A4
STRMID C SRS BARAB- —28 —20 -1 —20 &

D - E LUEPTRINEMFAER a~ b~ d~ e BI NIIFCIISIELE @

(A |a|>|e] (B) b REH
(C) a—b= -7 (D) b~ d BRERE

a=5—(—11)=16 * b=(—2)—(—11)=9 -
d=(—20)—(=11)= —9 » e=(—28)—(—11)= —17

) 6.

GFHIIEHE 38 (122 - FESRAE 1 SRBFE] 38 9% (EFEZBHE—KiE K
KEESRIBFROA—HmRSEEE  BBRE—BFE—XKIGREH— B
1~4 SREBEY%: » 2" B 5~-8 HEEHLE-- -  KILERIE - SRS —
R 1~4 SFIUABRE—XBEHEEH2ROF » (—BLREAX B
B R BUER )

(A) B/ \BEHHA (B) EHhBEH—

(C) EIUBERR (D) SRUUEZHAMT

(38,4) =76, 76+4=19
F2RE 20 X » 1~4 WBRIRE—KEEBBXE : 20+5=4(E)---0 .".3%(C)

) 7.

) 8.

ﬁ—%%¢§%@ﬁ@ﬂ3ﬂﬁ%%ﬁ%t’E%ELM%@R’%L

@T%%ﬂﬁ’%%EKE%EEZ%’W%E%E%Q%QQR%?
3 3 3 4
O ®) . © 3 ©) ¢
Can (3 _3\_a 2.3 o 9_ 3~
3 3><(2 4) 3 3><4 3 2 44&
A
CEEMEEENER=AT  HE2BTESE B .
i R 2RLHBENEESISY) ° -
(A) 30 (B) 60 g2 D C
(C) 75 (D) =& °l5 2

B 18 c
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( B

(12+18)x5
2

CD=18-6=12 ' B== 75

)9. BREEEDPSEFHE 892 A » BELLERFERD 2% » LA LLEFIEN0
3% FEABSELLETERY 8 A AISENSEEFIZ DA

(A) 204 (B) 240 (C) 686 (D) 700
REFEEx A TEy A
X+y=892+8
— x=700 > y=200 > 700x0.98 =686
—-0.02x+0.03y=-8

)10. FERMW 135 WEHE > WHE [ .
RAMEFER x 8 - WEBRR - SRS I_lli 5 =118
r |
|

—@IESFHIES A RILMETERRES | EBF
BIENEESFEESR B HAEZRT? A
(A)(57+19) (B)(63:17) (C)(75°19) (D)(81:17)
B 5B y IER 9x2—-1=17 > x 24Z/ 1+3+5+7+ - +17=81 >
.".(D) (81 17)

)11, B BREAETENEESRRE 3+ 2y =12 IO/ WIS
2 A6 2) BLOREIME(x=6 W EAFS  BEIHEEELE
Bfiir A3 (B4 (©O5 (D)6

D 3x+2y=12 @x=61LA3x+2y=12 N (0.6)
X410 =18+2y=12 > y=-3 ;\ o A4(6.2)
y0‘6 B BAARR(6,-3) AT TN P
B AB =2-(-3)=5 x (4’0N
:B
) 12. CEBEESEABFERNNER  IORSIEE 1
(i BEAEBENRRByY = () =ab &
AITNSIRCIVI S8R © 2
(A) a=2 i
(B) b=40 20
(C) BBRIKm 20 DIERNE 05352555
(D) BWREL7:50F 9: 20 BBBELABBE ()

15 B8R 140 TS E
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- a=2'b=-40"' y=2x-40
40=40a+b

S.9:20—7:50=907 , y=2x-40 = y=2x90-40=140

{20 =30a+b

)13. WEB > RIS ABCD > M- N MEDBIEAB A D
- CDBYRES - BRS AMND D48 ~ ZMKRS M N
2 » RO MBCN DR ~ MK - EBEELL B C
B:2=7:3A:J=5:9 8|5 :RA="
(A)1:1 (B)3:5 (C)21: 25 (D) 27 : 35
(1) 7b+3b=5c+9c > 10b=14c » b=2c="¢ e
10 5 = z
(2) & : R=a-3b:a-5¢=3b : 5¢c - -
=3%c : 50=2€1 : 5=21: 25 ¢ 9

we < P
OPzRg

it

HERIGZE S 100 7t - MABRSERYLUE—A 500 Tl FH
RSOE 1500 TTHIBRES - NIB—EAYERBETIEE
7T

) 14. B

b

|

fil:76) © (A)300 (B)400 (C)799 (D) 800
SHEF xTT - BIGTF x—100 JT

500<x+( x—100)<1500 — 500<2x—100<1500
600<2x<1600 * 300<x<800 * TJEEHx 300 ~ 301 ~ ---BY 799 JT

B 1D

i

=
s

)15. W05EE - B2 - A - THBIK
=BOnEBrMEE BuE <t T | FU f—= [

2 TR&ETR > BlR= 7 e
(A) B+2-T (B) B-&-T
C) B+2-27T (D) B-2-27T

B=(a+b)*=a’+2ab+b* > J=a° > A=b*>> J=ab

SAR=B-C-27

)16. B p  qII9REEH  Hp>q: B(p+q)*—(p—q)*>29 8l p BIF/)
BRT< (A3 (B) 4 (C)5 (D) 6
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BT s (p+9)° —(p—0q)° =p*+2pq+9° —(p*-2pg+q°)
2 2 2 2 2 2 . 29
(p+a)*—(p—a)° =p*+2pg+q*—(p*-2pg+q*) S pg> =

&)

Hp=3—-qImA=2" pqg=3x2=6 (5

6 p=4 - qE;mA=3" pq=4><3=12>7% S pR/I)\=4

TS e
,I

7
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(B )17. WESE %E%Z%gx E5(3x—6)IETS
FEi L - BE—BER X RRBEx+DINE
20 0 B THEMEER ax® +bx+c » 8 ,

2a-b=7 (A)4 (B)15 (C)8 (D)10 3x-6--""

iz 9

“N'w e
=

-~

BT - RN ERERE

ﬂgx(Sx—G)—x(2x+1):gx2 ~10x = ax” +bx+c

tbﬁft{%ﬂ%l—»a:g . b=-10 » c=0

.‘.2a—b=2xg—(—10)=5+10:15 E(B)

( D )18. f(x)=a(x* —2x+1)+b(x* -2) +x-5REXIZIET » 3K f (100) = *

1 1 5 7
A) 5 B -3 ©) -3 B) -7

AT f(X)=ax’ —2ax+a+bx* —2b+x-5

=(a+b)x* +(—2a+)x+a—-2b -5 RAZERXNIIET

. |la+b=0------ 1) 1 1
. . —_— = — b:——
~2a+1=0---(2) 2 2
1 1 7
Cf(X) =2 —2x(-2)-5=—"
() =2 -2x(=3) 5
7
f(100) = -—
(100) =—
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) 19. ’>>\/;_4+ 1?\/%@%@ T2 | v Jﬂ
F_{UMERT © L/J\%SI%E& 1.414 |1.732 2.23d
(A) 141 (B) 0.14
(C) 14.14 (D) 0.28

=0.1414

[A55_ [T33 1 _J2 1e
374 |24, 55 542 10 10

) 20. E—REROETCEELXE 8 A1 » BA 2
HE— B, - ARG KERRIH KX N
2512 Nk WEB ° BREKRh BN 8cm

D (A)4 (B)5 (C)6 (D)8

BREEETA

AD = (8+h)cm

12% + h* — (8 + h)?,

144 +R’ =64 +16h +h<

16h=80 > h=5(cm)

" 3E(B)

)21. IRENIER > BRE 22 IREEHRB <
(A) £15 (B) 828 (C) B33 (D) £43
B8 2 B 0 BURMEBIER » FILUMRESE 2 &

) 22. B—EERFEE » UX N RAKRBSIER  [IXHE—BEE 451

PN 75 - & 20 WEAIPINABE—X » BTN —BFEZA
e (A)25 (B) 30 (C) 36 (D) 40

sy
45—-20=25
Ba] XK o] K20%0 X : 20=20 : 25 x=16
B 3220 P 25%
..20+16=36
BB
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( B )23. R 200 (I RERIN=(IEEHE (—A— > GYLENZE)
BRE 6 REA  BERGERSAZREEH NG  BEBAEZDIB—R -
EREASHRERERHEE IS FEMERIITEBRRE <
(A) 62 (B) 63 (C) 64 (D) 65

BT TESERS x R HEFER

> x+2+x+1+x+3+2+1<200 |BX| 1 | 2 | 3 | 4 |5 | 6

L I x+2 | x+1 | x | 3 | 2 | 1

> x363§ ' x BA=63

81y - (200—3—2—1—1—2)+3=63§ SR 63

pli]

(A )24 T REBREDPE alBAZIB1IETT B aBAEDE 28T
BaBAEZEDBIEIT - ' BaBAZEDB &I BABBEB
g0 RAENRIBRZSDETT <
(A) a;t+axtag+ - +a, (B) a;+2a,+3ag+ -+ -+ +na,

(C) a;xazxagX -+« Xan (D) (1+2+3+----- +n)xa,

BEMT * 1x(a1—ap)+2x(a,—as)+3(az—as)+4(as—as)+ -+ - +n(a, _1—an)

=a,—a,+2a,—2a3+3a;—3a,+4a,—4as+ - -+ +na, _;—na,

=a,t+atastas+ ------ +a,

( B )25. A~B~C DUUAEOXEIERE * tFIBVERW TZFRPID: ©
AEEBEB 709 C1EB6049 ' KD2ED - (BH—FEE 109)

FE| B | B | B|FE | | B | F | 5| B 2

1123 4/5)6 |7 /|8/9/10 g

e I o I o R o R o I = I = R = I I = R =
AlO| X|O|IX]TO|O|IX|X|X|O]T70
B OO X | X|IX]|]O]O|O|X|X |70
CIX|IX|IXITOO|X|O|X]O]|X]e60
D O X | X]|O|O| X | X|O|X|X]?

(A) 50 (B) 60 72 (C) 70 B (D) 80
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BT AHIBBATH 7#E 2 AGEIEH 148 - EmMANSERB 4880 2
BREY 6 BBANE - 8E (BXRAE) 8) 6 BOURE 6 B1ERE - RILEIE (&
ZME)) 8 4 BB 8 EIERE - BIEERIERR -

SHUEREIEERE 1B (O)F48E (X)) Be6@ (O)FBI& (X) -
£ C WBRDP LINIIBREESTE 3 BHES DA 60 JAEMBMREEH TS -
RIE EAER > DEHHEE 12359 108 EHMR60-

E| B | B | BB | B | BB |B|R| A
1| 2|3|4|5|6|7]|8|9]|10 %
T o O = O s O = O = O = I I = R
A O XIO|X]TOIO| X | X|X]|]O]T70
B OO X | X | X]|]OJO]O|X|X]|T70
C [ X | X I X]|]O]O|IX]|]O|X|O]|X]|e60
D O X | X|O|O| X | X]O|X|X| ? =607
FE O | X | X | X]O|]O O] X|X|X
— - 51%ERE (S 257)
1. IXFRBIEE -
(Bl 1 4 2 5 4 7
2 19 ?
2 3 3 4 5 6

[BR) : 1x2x3—4=2 > 2x3x4-5=19 ’» 4x5x6—7=113----- &
1) HETI? E2D -

(12 1 BARAS 10 0 » 1B 2 B AE#ES 15 )
7 2 5 10 9 2

2 4 8 2 4 10

(2) b LBCESBERE -
(BD 2@+ - x - EEEEEIEEE > 107D)
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BT ¢ (1) BBMME  Tx2—4x2=6* 5x8—2x10=20 * 9x4—10x2=16

BER1. (7-1)x2—-2-4=6 SR 2. T7+2-4+2-1=6
(5—1)x8—10—2=20 5+10—2+8—1=20
(9—1)x4—2-10=20 9+2-10+4—1=4

@ |5 4 7 5 10 7
23 43 ?
3 2 4 3 2 3

5xX34+4%x2=23 » 7X4+4+5%x3=43 » 10x2+7x3=41

2. R CERRBHAZE » NWRBIEAFE S » HIGRWUT -

X* +5X + * 1
2 X2+
A

SFRIRISMIGHESS 28 - MBS — MR « AT —BORFE S > NBER
JRBERK - J 3k (1) FEHNHTESD T (2) SHEINA="

BT - DHENEER a

...x2+5x+a:(x_2)+1, 1+7
A A 1=2)1+5+(a-1)
x> +5x+a=(x-2)-A+1> 1—2
X2 +5x+(@-1)=(x-2)-A 7+(a_1):|7[<g|§[
7-14

SoA= (X2 45x+(@-1)) +(x-2)=x+7
J.a—1=-14 > a= -13

0
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